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1. Hrft ImETean deuta Eelie far famw

(a) FEAY TRVEF WA FaNgH 3THATd.

(b) WA UEWt SuTean=h fas A,

(c) d TATEA G wAa ot e sTEd,

e R/ e/ e s 2

(1) T (a) T AR (2) e (b) T MR

(3)  (a) 3N (b) TR 1A (4) () AR (c) T AT

Consider the following statements in the context of NITI Aayog :

(a) The Prime Minister of India is the Chairperson.

(b) Vice-Chairperson is appointed by the President of India.

(¢) Governing Council comprises the Chief Ministers of all the States.

Which of the statements given above is/are correct ?

(1) Only (a)is correct (2) Only (b) is correct

(3) (a) and (b) are correct : {4) (a)and (c) are correct
2. ST e vt TER el g ?

(1 = ﬁ‘ﬁsaw (2) o wHeg A UG

(3) . # HANRYT 3mETA (4) i AR T

Who formulated the People’s Plan ? ‘

(1) Shri Vishweshwaraya (2) Shri Manvendra Nath Roy

(3) Shri Mannarayan Agarwal (4) Shri Jayaprakash Narayan
3. “Wfireht Hfve i Fioren HriFAR/demeh G o 2

(1) AR ISR AT

(2) SR AR AISHT

(3) T anft e famm T

(4) U amfior fae Frbwa

Which programme/scheme is related to “Family Credit Plan” ?
(1) Employment Assurarice Scheme |

(2) Jawahar Employment Scheme

(3) Development of Women and Children Scheme

(4) Integrated Rural Development Prqgraxﬁme

o] HIHTHIST ST / SPACE FOR ROUGH WORK P.T.O.
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4 A
Erelidteh Hor Fum Sreare 9 mm sad SeEr a;&maﬂaxaaﬁga?

“(a) o wrETen farge wgvlt qeaer.

(b) # WA 100 TFh FLATHRHGT [&Hd .

(c) ¥ T 25 TFh Tod WTHA G 75 TFh hgHTHRA J0Ehd el 8.
(d) & A1 B SEA WEfe Feaamd! e,

il I ;

(1) (a) 30 (¢) faram =R 1184

(2)  (b) 3T (d) faem ==x amea

(8) (a) ST (b) Rram == mRd

(4) (), @ M (c) faum st armed

Which of the following statements are correct for ‘Deen Dayal Upadhyaya Gram

Jyoti Yojana’ ?

(a) To provide power connection to rural India.

(b) This Yojana is sponsored 100 percent by the Central Government.

(c) This Yojana is sponsored 25 percent by State Governments and 75 percent by
the Central Government.

(d) This Yojana is only for BPL (Below Poverty Line) families.

Answer Options :

(1) Statements (a) and (c) are correct

(2) Statements (b) and (d) are correct

(3) Statements (a} and (b) are correct

(4) Statements (a), (d) and (c) are correct

Wreiie feamih FIv[ =0e 11g ?
(a) Soow SHH IR & I,
(b) w=od "%l I &FE 3.

gt I ;
(1) (a) TR TR : (2) (b) U= T8
(3) (a) M1 (b) F=T 377R (4) FOSUR RIrdE SR AR

Which of the following statements are correct ?
(a) Disguised unemployment is in industrial sector.
(b} Disguised unemployment is in agricultural sector.

Answer Options :
(1) (a)is correct (2) (b)1s correct
(3) (a) and (b) are correct (4) None of the above are correct

T HHTATS IR / SPACE FOR ROUGH WORK




Answer Options :

(1}
(2)
(3)
(4)

(a) (b)
(ii) (1)
(iii) (i)
(v)  (iii)
(i)  Gv)

A

She No3dl .

HidT
(a) ®R@ st (i)
(b) Haw it (ii)
(c) et et (iif)
(dy i st (iv)
ot I ;

(@ (b)) (e
(1y Gi) @ (iv)
(2) (i) Gy @
@ Gv G G
(4) Gi) (v) (D
Match the following :

Revolution
(a) Green Revolution
(b White Revolution
{c) Yellow Revolution
(d) Blue Revolution

(e)
(iv)
(i)

(ii)
(i)

g9 I

SRS I
AR IeAEA
e SeareH

Production
(i) Milk Production
(ii) Food Production
(iii) Fishery Production
(iv} Oil-seed Production

(d)
(iif)
(iv)
(i)
)]
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q. et fora faamma =
(a) 2012 Ted TERET T FRaas fdaea Ifa 3 Ieared Ifes 8.
(b) 2012 UL TeERE dESN (W) ardfad fHaea afq 39 It HAfss &4,
FhAH o /it faam /A 9w s 7
(1) W (a) ST 32
(2) A (b) T IR
(3) (a) M7 (b) S=T 3MRq
(4) (a) anfir (b) T Ea
Consider the following statements :
(a) The actual yield per hectare, in quintals, of maize was higher than wheat in
2012.
(b) The actual yield per hectare, in quintals, of rice (paddy) was higher than wheat
in 2012,
Which of the statements given above is/are correct ?
(1) Only (a) is correct
(2) Only (b) is correct
(3) (a) and (b) are correct
(4) (a) and (b) are incorrect
8. _ =1 oYW At aded fama v sReama 39 eng.
(1) 9 (2) TeE (3) wEWig (4) Hew
Biwall irrigation is recently being experimented in the State of .
(1) Punjab (2) Gujarat (3) Maharashtra (4) Karnataka
9. ARGU-ATTA Tehed , , Tisht wadia aTmR.

(1) IW 9y, FHEs, fawr

(2) fegw, snEs, ufvam s

(3) =, gRET, TS

(4) WeA WS, 4T, ghEmm

Bhakra Nangal Project is related with . ) States.
(1> Uttar Pradesh, Uttarakhand, Bihar

(2) Bihar, Jharkhand, West Bengal

(3) Punjab, Haryana, Rajasthan

(4) Madhya Pradesh, Punjab, Haryana

FreedT HETATS! WRT / SPACE FOR ROUGH WORK
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10. IR T4 § Ao T oE e A ?

(a) TIgS @A
(b) SrEd
() TAHfrRm
(1 feaderaa
aafdt I :
(1) (a), (b) AN (c)

(2} = (c)
(3) WF (d)
(4) (a), (b) 3T (d)

Which fertilizer is known as Bio-fertilizer ?
(a) Vermicompost

(b) Farmyard Manure

(¢) Rhizobium

(d) Green Manure

Answer Options :

(1) (a),{(b) and (c)

(2) Only (c)

(3) Only(d)

(4) (a), (b)and (d)

11, ‘e shfee &€ AT Srash=aiHT goa fresfavarend! g« sheft A<t
(1) & gedfn gag@sr
(2) W= Hadi=n qagEel

(8) Y Hed=r Jaq@Ear
(4) e ad

The ‘Kisan Credit Card Scheme’ was introduced for facilitating access to to
farmers.

(1) Long-term credit

(2) Medium-term credit
(3) Short-term credit
(4) All of the above

T HHTATS! W / SPACE FOR ROUGH WORK P.T.O.
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12. @relte faur fo=ma =
(a) 14 ThME, 2016 T TP HfY IR G& e
(b) UV HfY TRYST AT TG TH FY st Sresiewn awaw.
(c) umfv FfY IemYST FfY I IR wfiegr Fafa Hen s,
ThAtht o /ot fue /3 S amea 2
(1) (a) 3707 (b) SR 2ATRT
(2)  (b) 3WMT () FUS TR
(8) (a) M7 () FUS 3R
(4) O ad ST A8d

Consider the following statements :
(a) National Agricultural Market was launched on 14t® April, 2016.

(b) Gramin Agricultural Markets are electronically linked to National Agricultural
Market.

(¢) Gramin Agricultural Markets are regulated by Agricultural Produce Market
Committees.

Which of the statements given above are correct ?
(1) (a)and {(b) are correct

(2) (b)and (c) are correct

(3) (a) and (c} are correct

{4) All of the above are correct

13. e faum foemm o .
(a) WIFIMT 2019 TAT TSI AR 3-31 H w9 2.
(b) TEEATSET FEH U= SE WIEl T IR,
FAhI v /i faam /3 alsw ong /1R ?
(1) (a) 37001 (b) (2) wad (b)
(3) W (a) (4) Slerdhl A )

Consider the following statements :

(a) According to the Livestock Census 2019, the State has about 3-31 crores of its
total livestock.

(b) The State ranks seventh in the country in terms of livestock.

Which of the statements given above is/are correct ?

(1) (a)and (b) (2) Only (b)

(3) Only(a) (4) None of the above
Foeq] HHTATS! ST / SPACE FOR ROUGH WORK
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T 2010 — 11 T HEATHET SN TS 60 TFRINET IRG &3 afoarareh g ?
(a) FAR

(b) Iumm fa=m

(c) dOd

(d) fadlt 3 pueh=

Tyt IW

(1) a4 (a) 30f9 (b) (2) % (c)

(3) % (a), (b) A (c) 4) wFd(d)

Which sources irrigated more than 60 percent area in India in 2010 - 11 ?
(a) Canals

(b) Lift irrigation

(c) Tanks

(d) Wells and tubewells

Answer Options:

(1) Only(a)and (b) (2) Only ()

(3) Only (a), (b) and (c) (4) Only ()

15.

I Arefeqaedmedl Ui ia Sl ffies sogd decars Ufgelt o1, ot amnd )
(a) TG AFHSITE AAUATH TG O

(b) ITMETE FHoTAT HIATET [AST FHO

(c) T el FAFETET AT

(d) Tfga g O

it 39 ¢

(1) (a), () 3T (d)

(2) (a), (b) 3T (d)

(3) (b, (¢} 3nfin (d)

(4 (a), (b), (c) 2T (d)

Indian agriculture has been playing the most important role in the Indian Economy
ie., .

(a) Provision of food surplus to the expanding population
(b) Providing raw materials to industries

(c¢) Use of outdated farming techniques

(d) Eradication of poverty

Answer Options :

(1) (a), (c) and (d)

(2) (a),(b)and (d)

(3) (b),(c)and (d)

(4) (a), (b), (c) and (d)
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16. SN ford dromen SEda e fran faamm o

YT :

“ferrm st fRadiER it <gm seaEwRE Saw e fam e
T I

“ardirem sfeprar fafau s nifia saae wwmr.”

Fhedh Hom/d faam/A gca 2AR/amR ?

it I ;

(1) %o [ Teg 38

(2) oo 11 TeT 318

(3) I aufor II Sdidl T amga

(4) 1 omfe 11 G-t oree aTga

Consider the following statements in the context of agricultural price policy :
Statement I :

“To protect or insure the producer through guaranteed minimum support price.”
Statement II ;

“To induce the desired outputs of different crops according to growth targets.”
Which of the above statements is/are true ?

Answer Options :

(1) OnlyIis true

(2) OnlyIlis true

(3) 1and 1l both are true

(4) I and Il both are false

17. Ecliedeh FoR /A s/ sl /e ?
(a) TTAY fod qREST =00 # TEIEY S IR
(b) TEIEHEA TST TEHI THMAT SH FIATHIHE HATEST hell Il
it 3w :
(1) (a) S 3R
(2)  (b) s 3}
(3) (a)3nfor (b) S MR
(4) =Rt HivEd s A
Which of the following statements is/are correct ?

(a) Providing rural finance is the function of the NABARD.
(b) Long-term loans are provided by the NABARD to State Co-operative Banks.

Answer Options :

(1) (a)is correct

(2) (b)is correct

(3) (a)and (b) are correct

(4) None of above are correct

HEEqT FHTAIS I / SPACE FOR ROUGH WORK
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“Treftg it Wi e wiviger anfor Esitem ween” a7 IrEEed anifor aq
T TTfa 3T
(1) AT, wgmy
(2) T, TR
(3) e, faEn
(4) W, IW W™
“Rajiv Gandhi National-Ground Water Training and Research Institute” is located at
in the State of
(1) Nagpur, Maharashtra

(2) Raipur, Chhattisgarh
(3) Patna, Bihar

(4) Agra, Uttar Pradesh

19.

‘GEERTH] ded M FAGT IT YT UFHRIH! SATEAT Hivft wisedt 18 ?
(1) ot FH.u@. vEm

(2) W dfq s

(3) wH. Hoewd

(4) =itg =i, foeht

Who stated the definition of Co-operation in the book ‘The Law and Principles of
Co-operation’ ?

(1) Shri V.L. Mehta
(2) Prof. Paul Lambert
(3) H. Calvert

(4) Rezos C. Viny

20.

“Tfta fahr HEBTRE MRAT I HEHHI SdsaT SATETEl HHl HuArg ST ?
(1) 1951 (2) 1948 (3) 1955 (4) 1958

When was the report of Co-operative Movement in India taken by ‘National
Development Council’ ?

(1) 1951 (2) 1948 (3) 1955 (4) 1958

FFeeqT BHTATS! ST / SPACE FOR ROUGH WORK ‘ P.T.O.
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wrefte feram feramoa = .

(a) WENE U9 GEhl! o o1, & Usua Pngt ggeil 9% amd.

(b) U= 31 Fregr wewedt ggert 1 g,

(c) Tawed Hewhil s arnform-anfds famwm snfor amfyes wwhifammed gea sfirem
oarad AR,

FhTAHT v /A /Y siEt R /a1 ?

(1) e (a) 3T (b)

(2) %ad (b) M (c)

(8) (a), (b) 31N (¢)

(4) % (c)

Consider the following statements :

(a) Maharashtra State Co-operative Bank Ltd. is the Apex Co-operative Bank of
the State.

(b) There are 31 District Central Co-operative Banks in the State.

(c) These Co-operative Banks are playing a vital role in socio-economic
development and social integrity in the State.

Which of the statements given above is/are correct ?

(1) Only (a)and (b)

(2) Only (b) and (c)

(3) (a), (b)and (c)

(4) Only (c)

22,

_ wEewda garon gatauamrd) e soam steet JeEdl.
(1) ua.Tg. qus afiedt

(2) . fa=a v afid
(3) . "uw U9 A

(4) ST G

was not appointed for recommendations in co-operatives.
(1) S.S. Marathe Committee
(2) Dr. Vijay Kelka..r Committee
(3) K. Madhava Rao Committee
(4) Vaidyanathan Committee

HeEg] mﬁné’r ST / SPACE FOR ROUGH WORK
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23, 1991 Yot ‘TEME wEA AdF Eifies g e wt St ?
(1) 1992 (2) 1993
(3) 1994 (4) 1995

When did the ‘Government of Maharashtra’ announce a new industrial policy after

19917
(1) 1992 (2) 1993
(3) 1994 (4) 1995

24, wEE fagAE fmm w0
(a) Téqeea wuR SreMRA ST TERTY TS TEME § gaE 9 AN T el
(b) w wemw 701 fr.dfY. wiw .
(¢) AT YehouT= UHY SUfd @9 T 55,335-32 P ATE.
FOAYH o faum wtmr I ?
(1) & (a) AT ()
(2) %5 (b) M (c)
(3) W (a) AT (b)
4) (a), (b) 3T (c)
Consider the followiﬁg statements :

(a) Hinduhruday Samrat Balasaheb Thackeray Maharashtra Samruddhi
Mahamarg will connect Mumbai and Nagpur.

(b) This highway covers 701 km of distance.

(¢) Its estimated construction cost is T 55,335-32 crores.
Which of the statements given above are correct ?

(1) Only(a) and (c)

(2) Only (b) and (c)

(3) Only(a)and (b)

(4) (a), (b) and (¢)
oY PHTATS! SR / SPACE FOR ROUGH WORK . P.TO.
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25.  WEREN NqSHA RO FErer HEiE & e B A oA S g ?

(1) 1951

(2 1961

(3) 1966

4y 1971

When was the ‘Agricultural Lands Ceiling on Holding Act’ passed in Maharashtra ?

(1> 1951

(2) 1961

(3) 1966

4y 1971

26. WA FURT G TEE 1991 9 2010 T FraFHEe gy Ts9E A dFa Aid
T At ?
(1) Fs T i
(2) smftwr fo wrw
3) s an witeE

(4) i e Sa

Which of the following two nations had a major investment in industrial sector in
the State of Maharashtra from 1991 to 2010 ?

(1) England and America
(2) America and France
(3) America and Mauritius

(4) America and Japan

FoeqT BIETATE! SIAN / SPACE FOR ROUGH WORK
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27. wery Fewm R ofidt s, 1998 97 9gRIpE TOA HEE e e FaeE
giudn ot B 37,

(1) ream, fiee afeg
@) frerfted

(3) HHE HeH (WHER)
(4) Trern e

is the Secretary of District Planning Committee formed under the
Maharashtra District Planning Committee Act, 1998.,

(1) President, Zilla Parishad (Z.P.)
{2) District Collector
{(3) Member of the Parliament

{(4) ' District Guardian Minister

28, “wrefirk Aoy S gEara St el a1 2

(1) 2R, 1975

(2) 2R, 1976

(3) 2 offFaR, 1977

(4) 2 ¥fFR=R, 1978

When was the ‘Regional Rural Bank’ started ?
(1) 2 October, 1975

(2) 2" October, 1976

(3) 2" October, 1977

(4) 2" QOctober, 1978

AT HIFTAIS! ST / SPACE FOR ROUGH WORK P.T.O.
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29, WRAW 3G WEEA BF ¥ et 9gH GE HOIT AT ?

(1) 4 9HaHl, 2006 (2) 94, 2010

(3) 109w, 1988 (4) 209HaRI, 2015
When was the 3G mobile phone service launched in India ?

(1) 4" January, 2006 (2) 9" May, 2010

(3) 10'" September, 1988 (4) 20'® January, 2015

30. TISCO fg ot WG I FHft areaT vadd! ?

(1) 147, 1976 (2) 10 9HEdl, 2010
(3) 247, 1990 (4) 1%, 1960
When did the Government of India take over the TISCO company ?
(1) 14 July, 1976 " (2 10*" January, 2010
(3) 24% July, 1990 (4) 15 May, 1960
31, TN @ TR,
(1) JuriHe ae (2) WGP T 21
(3) HCTHS HEIT (4) IF-Aunfis T
SEBlisa .
(1) Statutory Body (2) Advisory Body
(8) Constitutional Body ~ (4) Non-Statutory Body
32. 2 ARAIS HraTITd weith Uaees 3T8d.
(a) T=E Wik wEE (b) THH Wi T
(c) ST TToh TFE= (d) TR =i =
gt I
(1) (a), (b) 3fT (¢) (2) (b)), (c) 3f0T (d)
(3) (), (b), (c) =0T (d) (4) (a), (c) 301 (d)

are the accredited stock exchanges in India.
(a) Bombay (Mumbai) Stock Exchange (b) National Stock Exchange

(¢) Jaipur Stock Exchange (d) Delhi Stock Exchange
Answer Options :

(1) (a), (b)and (c) (2) (b)), (c) and (d)

(3) (a), (b), (c) and (d) (4) (a), (c)and (d)

HeedT HHTATSE ST / SPACE FOR ROUGH WORK
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giata 8@ g%a Ided (Green GDP) datfl faam wrar @iefieddh! Hivrt foum iR
IMR4 ?

(a) TcTaI=AT ARMEE! GHTEFTE 919 F.

(b) RN 9@ THEITN FUAEE HEHETET 9iH, hRETGR AT GRS arw

T,
(c) AYHIEN=AT I1d) Hidar GEYAS T F1.
(d) = IREEl FEYA HUwRd T
gt It ;
(1) faum (a), (b) a0fir (@) SR 21184
(2) e faum (b) 0= 7R
(3) faam (a), (c) ufor (d) sU=T 31”4
(4) has fauam (¢) st o1

Which of the following statements are true in reference to Green GDP ?

(a) To utilize the resources furthering the growth of economies.

(b) To utilize the resources optimally, efficiently and effectively in furthering the
growth of economies.

(c) To exploit the resources furthering the growth of economies.

(d) To exploit the resources till the end of it for growth of economies.

Answer Options :

(1) Statements (a), (b) and (d) are correct

(2) Only statement (b) is correct \

(3) Statements (a), (c) and (d) are correct

(4) Only statement (c) is correct

34.

HITI

“IIN AR AT FOATHIS FTeIehot &1 390 Bl T8 RO GeHTcHs g5l STelhal 8§
weg et et awd.”

e 1T . '

“géran srshmon syerees HaEdt SmETa s Sureft I fee=a amtien = e wma.”
gt I

(1) & $YH [ 3 T A (2) wF ®eF I3 90 R

(3) e 1 M 11 3 Sd & e (4) YA [ 311 11 B S8 sraea ama
Statement I :

“External borrowings are the next best way to manage fiscal deficit with the
condition that the external loans are comparatively cheaper and long term.”
Statermnent II :

“Internal borrowings come as the third preferred route of fiscal deficit management.”
Answer Options :

(1) Only statement I is true (2) Only statement II is false

(3) Both statements I and IT are true  (4) Both statements I and II are false

el HFTETS! ST / SPACE FOR ROUGH WORK P.T.O.
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35. 2020 W Ffigw (Champions) ¥ Creation and Harmonious Application of
Modern Processes for Increasing the Output and National Strength = 311=IFIT§=I
et (FEdS) W TERY Tictertehl ForHiar g& Ha ?
(@ wwEiH. (MSEBs)
(b) TH.TA.GH.3. (MSMEs)
(¢) mw.d. ICTs)
(d) WI3-3¥awE JENT (Large and Heavy Industries)
gt I
(1) (a) afr (b) s (2) ®aas (b) Al
(8) (b)afvr (d) e (4) +a@ (d) FOa
In 2020, Creation and Harmonious Application of Modern Processes for Increasing
the Output and National Strength (CHAMPIONS), online platform was started by
the Government of India, for whom ?
(a) MSEBs
{b) MSMEs
(¢) ICTs
(d) Large and Heavy Industries
Answer Options:
(1) For{(a)and (b) (2) Only for (b)
(3) For(b)and (d) (4) Only for (d)
36. & uraTfie s Taiee are gvarE SRO TR,

(a) WHEE 918

(b) ATHERM

(¢) R TN e
(d) farmm vHeq

- a3 ;

(1) (a), (b) 3for (d) (2) (b), (c) 3% (d)

(3) (a), (b) A (c) (4) (a), (b), (c) =M1 (d)
are the causes of the rise in public-expenditure in India.

(a) Population Growth

(b) Urbanisation

(c) Expansion of Administrative Machinery

(d) Development Project

Answer Options :
(1) (a), (b) and (d) (2) (b),(c)and (d)
(3) (a),(b)and(c) (4) (a), (b}, {c) and (d)
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37. ‘fia sy d9eAr 2011 v WY wivren qewwEd g€ et A9t ?
(a) e anfir fafagr '
(b) SEUNH I ARTER
(c) wmoshi Aftrerdl 3 Aa
(d) 9 I AR § Frafagr
g I :
(1)  (b)IreaT Hla o (2) (c)Ar=aT Hlar b7
(8) (a)ar=AT H w0 (4) () gr=AT HT B
‘Niryat Bandhu Scheme (Export Brother Scheme)’ was launched in 2011 for which of
the following components ?
(a) Entrepreneurs and Exporters
(b) Entrepreneurs and Importers
(¢) Government officers and Politicians
(d) New Entrepreneurs Importers and Exporters
Answer Options :
(1) For (b) only (2) For (c) only
(38) For(a)only (4) For(d) only
38. VRGN fad TR 9 W A G A AR SR, I e el
Wl R R
(a) .t =g () 15 foa amm
(b) W% fam (i) 121 fam s
(c) ¥ TR (iii) 8 fam s
(d) werdR =it (iv) 5a1 fo o
aaidt I :

@ @M © @
1 @ (ii) Gv)  Gii)
(2) (i) @ i)  Gv)
@) v @) @) (i1)
4) Gi) Gv) G @) ‘
Finance Commissions of India and their Chairmen are given below. Match the
correct pair :

Column 1 Column I1
(a) Y.B.Chavan (i)  15th Finance Commission
{b) N.K. Singh (i) 12th Finance Commission
(¢) C.Rangarajan (iii) 8tk Finance Commission
(d) Mahaveer Tyagi (iv) 5th Finance Commission
Answer Options :

(@) ® (@ (@@
1 @ i  Gv) (i
(2) i) @ (i)  @Gv)
3 Gv) (i) @ (i1)
4 G Gv) G @

T FHTEIST ST / SPACE FOR ROUGH WORK P.T.O,
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Tt s dior, 1991 398 MRTP S wrehiedsh wivd dfires 78t (g wma) 2
(a) HI=AHT [aEUEhITEt MRTP v q& warft smavas 1.

(b) MRTP FET=a ftenta are Fefl Tt

(c) IFFT AIR-HTENETET ST Tqa! feh HIR Hear.,

(d) WEEHITAHMGd et aqE AfEr 3.

gt I ;

(1) s (a) 3 (b) T M (2) e (a) T (d) FA 1R

(3) (a), (b) 301 (c) SV 218q (4) w9 S AR

According to the New Economic Policy, 1991, which are neot the features of the

MRTP Act (Ref. India) ? .
(a) Company needed prior permission of MRTP Commission for investment.

(b) Power of MRTP Commission widened.

(¢) Penalty provisions for unfair trade practices are more strict.

(d) Primary investigation by Director General is made compulsory.
Answer Options : '

(1} Only (a) and (b) are correct (2} Only (a) and (d) are correct
(3) ({a), (b)and (c) are correct (4) All are correct '

40.

FYTI:

“gem ST oIy IURTHE B IR T Atk o e Sl amar e,

FHoT I1 : . )

“@7 2012 — 13 7= geu-Ag-Hegw el (MSME) §hc TEIY I 912 7-3 &eh

W IS 37-5 Tk Aigad R,

(1) %ad I8 31dc 3T
(2) wad IIR G 3T
(3) 13wy 118 2-Adt wex ommaa
(4) 137y 118 et srdeT amed

Statement I :
“Labour intensity in the micro and small enterprises sector is almost 4 times higher
than the large enterprises.”

Statement IT :
“In the year 2012 — 2013, the MSME sector contributed 7-3 percent of GDP and
37-5 percent of manufacturing output.” :

Answer Options:

(1) Only lis false

(2) Only Il is false

(3) BothIand Il are true
(4) BothIand II are false
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41, Tod 9% 3% feam gF o “ardiim gavl =" (Sovereign Gold Bonds) &7 391
I ?
(a) woaw (vifess) Ar=rsft Armft ) <+,
(b) womEr (+iifoer) Wit wEoft FTefaor.
(¢) W W Taea fus = et
(d) e ¥|T MyvarErd!.

gt Iu

(1 fae (a) SR o (2) faum (b) s oMR

(8 faum (c) = oM (4) 0@ wd faum als oEa

What is a main purpose of “Sovereign Gold Bonds” issued by the Reserve Bank of
India ? ‘

(a}) To reduce the demand of physical gold.

(b} To increase the demand of physical gold.

(¢) To get more interest by investing money in gold.
(d} To unearth Black Money.

Answer Options :
(1) Statement (a) is correct (2) Statement (b) is correct
(3) Statement {(c} is correct (4) All statements are correct

42. Iifie ST Icgmar R et Tieated 2uErkldl @iefieddl S JSd (main)
fervm a2
(a) w.umw$. (MSMEs)
(by H.HAA. (QCD
(¢) T .d.3m3.9138.&. (DPIIT)
(@ .. (DMIC)

vatft I ;
(1) e (a) SO 7R (2) W (b) S 3
(8) e (b) ATV (¢) TV ATRA (4) ad (c) SU A8

Which of the following are nodal departments for the promotion of productivity and
quality in the industrial sector ?

(a) MSMEs

(b) QCI

(¢) DPIT

(dy DMIC

Answer Options :

(1) Only (a) is correct (2) Only (b)is correct

(3) Only (b) and (c) are correct (4) Only (c) is correct

Foeldl SHEFISE SR / SPACE FOR ROUGH WORK P.T.0.
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43. waid 9 FRY faavms TR HRATSY TaavEs SRS ARTINS FUSR JShH SATET JrTdl
YA Ga9uHHT 25 qest, 2014 A <t awon Seft.
(1) Tsfia Scred €
(2) feechged shanfies wifsi
(3) Th-gA-3fe
(4 herh T

The Prime Minister of India, launched the global initiative on
25th September, 2014 to invite both domestic and foreign investors to invest in India.

(1) National Manufacturing Policy

(2) Delhi-Mumbai Industrial Corridor
(3) Make-in-India

(4) None of the above

44, GWEHAIH HUQ FoAd THR A7ET ?
(a) W HIL
(b) =t
(¢) % Afteed
(d) TG =
qardt I ;
(1) (a) 3007 (b) ST MRT
(2)  (c) ST 3R
(3) (b) S TR
(4) (c)3ufir (d) T sRA

Which of the following is/are not types of loan ?
(a) Cash credit
(b) Promissory note
(¢) Bank overdraft
(d) Cashloan
Answer Options :
(1) (a)and (b) are correct
(2) (c)is correct

(8 (b)is correct
{4) (c) and (d) are correct

Feedl FHRTS! STFT / SPACE FOR ROUGH WORK
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2007 HTEl WRA WG FEEE SETe iGE WETcle Feaast &
TR e FiT et Heft, :

(1) W= e simn g

(2) HETHT T S-SR FT

(3) =R FUfdaar ST, 2008

(4) SEFEE S-SR A

The Indian Government has launched the National Health Insurance Scheme,
namely the for BPL families in unorganised sector in 2007.

(1) Rashtﬁya Swasthya Bima Yojana

(2) Mahatma Phule Jan-Aarogya Yojana
(3) Social Security Act, 2008

(4) Pradhan Mantri Jan-Aarogya Yojana

46.

AT fhelt Toh ST RAETET (Volume) STAWISI SATYR HYGHR STeral ?
(a) 90d95%

(b) 801 85%

(¢} 651 70%

(d) 4073 50%

At I

(1) (a)8 s 3

(2) ()3 SN M

(3) (d)? R 3R

(4) (b) 3 T AR

How much percent total volume of international trade of India is transported by
sea ?

(a) 90to95%

(b} 80to85%

(c) 65toT70%

(d) 40 to 50%

Answer Options :
(1) (a)is correct
(2) (c)is correct
(3) (d)is correct
(4) (b)iscorrect
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47.  Shenfe waa ot s snfer e $ag fiefvas ¥ WA ant swgd,
(@) =Rl e (afi) (b) HWHII HES ' '
(c) ofenfirs =ma wieERoT (d) HgE henfies g5y I3
gt I :
(1) () T (b) AT 3RT (2)  (a), (b) 3TN (c) ArT IR
(3) (a) 3N (c) AT TR @) (a), (b), (c) 30 (d) AT IarRd
are the ways for industrial peace and to settle industrial disputes in India.
{a) Court of Enquiry {b) Board of Conciliation
(c) Industrial Tribunals (d) Central Industrial Relations Machinary
Answer Options :
(1) (a)and (b) are correct (2) (a), (b) and (c) are correct
(3) (a) and (c) are correct - (4) (a), (b), (c) and (d) are correct

48,  WRaATdIE SN FHTAT FHol-IA-TUiL GRUTETSA @ieileriehl sivd faum sier amga ?
(a) THoi-34t UL sESTS RBI 3 fifrma frem e ama.
(b) S wrEm Wemmdid EEveE gema it guEE |, |
(¢) frs el feuritan ofe Ao o saaamT=aT U wqe Hitd SIEdw.

(@ -3 i = S o 100

TRYT St 1
ﬂ'ﬂ'hﬁa?ﬁ:
(1) Tum (a) 3nfor (b) SO 8T (2) fagm (b), (¢) 2nfor (d) sUsT areq
(3) faum (¢) ivn (d) 0=~ and (4) Tha wd faum I=t 3mRd

Which of the following statements are true regarding Loan-to-deposit ratio policy of
commercial banks in India ?

(a) The RBI has fixed rules regarding debt-to-deposit ratio.

(b} The Bank’s investment in government securities is relatively more secure.

(c) Recently debt-to-deposit ratio are changed by banks according to financial
-situation.

Total Loan g 100

(d) Debt-to-deposit ratio = - .
Total Deposit 1

Answer Options :
(1) Statements (a) and (b) are correct ‘ (2) Statements (b), (c) and (d) are correct
(3) Statements (¢) and (d) are correct (4) All statements are correct
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49, &% 91 U e 7Ud WiNd S TR ?

(a) iftg Tear (b) MR
(c) =l (@ wifuwr
iy IW
(1) (a)? == R (2) (b)3 =R 3R
(3) (b) nfer (@) # A s AEq 4) (d)? SR AR
What is the Marathi word for the English word ‘Bank’ ?
(a) Koshiya Sanstha (b) Koshagar
(¢} Treasury (d) Adhikosh
Answer Options :
(1) (a)is correct (2) (b}is correct
(3) Both (b) and (d) are correct (4) (d)is correct
50. Ty U1 e-faen SeT 91 W A THeET ST ATe.
(1) 1969 (2) 2018 (3) 1978 (4) 1996
National Institute of Hydrology (NIH) was established in as an
autonomous organisation.
(1) 1969 (2) 2018 (3) 1978 (4) 1996

51. Weleaeh! Hivd e stawrsda At Fdt sea aw sRd ?
(a) oraws A fft = v dewm U, GYE g AT HEEg EA.
(b) YRS W AawrsdE A Feft =1 Feae gewE TR,
(c) STENIRY, ST IO sfieiehr ¥ 7M. UH.Th. A1 WRAIG HAER  GHTd 1.
(d) riaErEE A ffre ars isame e A uh 1T saems .

iy IW ¢

(1) R (a) o1 (b) s oA (2) g (b) 3R (o) S SR

(3) faum (o) anfer (d) s0R IR (4) faum (b), (¢) 3o (@) K= FmRd
Which of the following statements are true in reference to International Monetary
Fund ? :

(a) All member countries of the IMF are members of the United Nations.
(b) India is the founder member of IMF.
(c) Bangladesh, Bhutan and Sri Lanka are in India’s constituency at the IMF.

(d) IMF has Board of Managers consisting of one manager and one alternate
manager.

Answer Options:

(1) Statements (a) and(b) are true (2) Statements (b) and (c) are true

(3) Statements (c¢) and (d) are correct  (4) ~ Statements (b), (¢} and (d) are correct
FEqT FTHTHIS! W / SPACE FOR ROUGH WORK P.T.O.
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faemT I :

“Wr-a EW T FrEHAES ARAT qev SR Igum geamtash i o Fem gvares
Feadte.”

faemT I1 :

“aigaefl TREOA FOAE ATH gt AAreft o,

(1) waa fqum 19 omR

(2) W faum 119 o

(8) Taum Isnfor II =t I ada

(4) faum 1 snftr 11 @ o/ amea

Statement I :

“Start-up India will turn Indian youths from job seekers into job creators.”
Statement I1 :

“T'ax is exempted on capital gains.”

Answer Options :

(1) Only statement I is correct

(2) Only statement II is correct

(3) Both statements I and II are correct

(4) Both statements I and II are incorrect

53.

mmwmmv(mmmmmmm)
(a) Y Unft AR WS FReEA 10% Tieae TEH.

(b) I uft TR TSI JRTHAT 10% THaE Higae ! IgH.

(c) HiuToft gHaTR giawn 3ureiiadt aft Iuswtet 25% Tadd.

(d) wiegmft THaR T IUReEE Ioft IuHTHe 10% Sad

ﬂ'ﬂf‘d’f?ﬁ:
(1) faum (a) anfr () =0= amga (2) faum (b) ster IR
(3) faam (b) o (¢) TV IR (4) faum (d) =o= IR

Which of the following statements are true ? (while practising Green technology
under new manufacturing policy.)

(a) A 10% capital subsidy for units practising zero water discharge.

(b) A 10% one-time capital subsidy for units practising zero water discharge.

(¢) A 25% rebate on water cess for setting up waste water recycling facilities.

(d) A 10% rebate on water cess for setting up waste water recycling facilities.
Answer Options:

(1) Statements (a) and (c) are correct (2) Statement (b) is correct

(3) Statements (b) and (¢) are correct (4) Statement (d) is correct
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54. 71 feasht siusuedt g WRaEndl wRare Tud “Usfie s I gw

et

(1) 26<maT, 2015

(2) 15 A=, 2013

(3) 43H, 2009

(4) 30 SmMET, 2009
'The President of India introduced the “Rajiv Aawas Yojana” on _. , for slum
free India.

(1) 26th January, 2015

(2) 15th August, 2013

(3) 4th June, 2009

(4) 30th January, 2009

55. =g B i Hivcan AR Sewe 918 ?
(a) fizdube
(b) F2FW s
(¢) sfsarwe
(d) whe &S
ot I

(1)
(2)
(3)
(4

By what name was ‘Mutual Fund’ formerly known ?

(a)
(b)
(e
(d)

(a) SO IR
(b) ST 218
(c) ST 12
(d) SUST 318

Mid-cap-Fund
Index Fund
India Fund
Market Fund

Answer Options :

(1)
(2)
(3)
Yy

{(a) is correct
(b) is correct
(c) ig correct

(d} is correct
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56. Tt urA onfor et we Frata &f T (3F) Tl YvaE TR ATRA. A SS JeE.

= I W II
(@) TE () WNEYFTR (3w TT)
(b) a1, T (i) TREOG (4. =)
(© W (i) WIS (FE7 W3m)
(d) ot oTfoT & (iv) WETR (T90E)
Qi I

@ @G (© (@@
(1) @Gi) Gv) 3G @
(2) Gv) G @ (iii)
(8 G @ (i)  @(w)
4 W (i) vy @D

Agricultural products and agriculture exports zones are given below. Match the
correct pair.

Column I Column II
(a) Wheat (i) Mehboobnagar (Andhra Pradesh)
{b) Onion, Lehsun (ii) Narayanpur (West Bengal)
(c) Potato (iii) Bhopal (Madhya Pradesh)

(d) Mango and Grapes (iv) Bhavnagar (Gujarat)
Answer Options :
@ ® © @
(1 Gi)  Gv  G)  ®
@ Gv G @ GiD)
(3 G @ G v
@ @ G Gv G
FHoeg] PHTHIS! SN / SPACE FOR ROUGH WORK
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57. 2017 — 18 We) ¥ T IUAE Ie4] A GE hedewn Y (SPARSH) @ ARS
Giefedsl Ho I 3N ? '
(a) <&M FET=AT GAFT TR A1 quiree FATEd! B ST ST,

(b) AT drur ST i e SiteaTe oamha.

(c) Tewed Thcreeht Teas o Sumvamad arem 30 . Tare fefie.
(d) wo faemeateh Tedt S oA

it I ‘

(1) (a) 3l (b) SheT 724

(@) (a)3Mfor (c) s 1

(3) (a) 3T (d) ST ARA

4)  (b) N (¢) WhET AR

Which of the following are the pu_rpdses of the scheme named SPARSH, launched in
the name of Deen Dayal Upadhyaya in 2017 — 18 ?

(a) To promote hobbies to relax and de-stress the young age children.
(b) To improve the nutritional and health status of children.

(¢) To promote philately, among children (specially post stamps).

(d) To reduce drop-out of school-going children.

Answer Options :

(1) (a)and (b) are correct

(2) (a)and (c) are correct

(3) (a)and (d) are correct

(4) (b)and (c) are correct

58. FgHAtHl furde A Famadfinw guren gEfvamd 1de Seen wdEell Ww

aftrefi (amevET) oMo Aremsl 0 A H1ET e
(1) 189, 2012 (2) 16 fF=R, 2007
(8) 283, 2012 4) 1457, 2012

Parth Sarthi Shyom Committee (Review) has submitted their recommendations for
General Anti-Avoidance Rules (GAAR) on

(1) 15t September, 2012 (2) 16tk Qctober, 2007
(3) 28th June, 2012 . (4) 14th July, 2012

Freeg| HIATHIS ST / SPACE FOR ROUGH WORK ’ . P.T.O.
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59, WouH gEdict o (PAHAL) 1 diedrsd el s faae st amga 2

(a) &eU At g MRS g it avd fotd 7o) ek, wrw wata WS 9 @™ w
eI, .

(b) = A Hia Iaeh-THT R T 2,000 g&Aala grara.

(c) & Ao g&a ¥9 2019 7=} weh.

(d) e NSh. TE unEn faet Smt sgER @ dien siattd weaiata B,

ﬂ'ﬂfﬁ?ﬂ:{: :

(1) (a), (b) 3R (c) TN

(2) (a) AT (b) T IR

(3) (a) M (d) SO=R 3R

(4) (b), (c) 31 (d) T a178a

Which of the following statements are true regarding Direct Benefit Transfer

(PAHAL) scheme ?

(a) The scheme was recorded in the Guinness Book of World Records, being largest
DBT.

(b) Under the scheme, farmers getting ¥ 2,000 per month dif-ectly in their account.

(c) The scheme was started in 2019. ’

(d) Subsidy to LPG holders is transferred under the scheme.

Answer Options :

(1) (a), (b) and (c) are correct

(2) (a) and (b) are correct

(3) (a) and (d) are correct

(4) (b)), (c) and (d) are correct

60. W wor wEETTH f¥baw (FEMA) o feasll wg oA WRdE dEene
TS
(1) 15 siPTE, 1998 (2) 4 3TE, 1998
(3) 10 9Mar, 1997 (4) 269, 1998

The Foreign Exchange Management Bill (FEMA) was introduced by the Government
of India in the Indian Parliament on ‘

(1) 15th August, 1998 (2) 4th August, 1998

(3) 10 January, 1997 (4) 26th January, 1998
et SIHTETS] ST / SPACE FOR ROUGH WORK
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61. 2019 — 20 HE WRATSA 391 FENYA 9 q=41 A9UeEd Gieiiadsh Hioed faum oo sdda ?

(a) WA & e fama data Hiel Sul Jared IO 3R,

(b) WRA WA Fo<HT AT {680 W31 ATER 8.

(c) W@ ¥ STdlel ST Fatd Hist TS, (LNG) TRIaER 3712,

(d) e FoRe T Jafilfs a9 Twa TR EEEe SATHEN 85% T 53% TR,
oot I : |

(1) (a)37for (b) =R 3TEa

(2) (a), (b) 31 (¢) TR TR

(3)  (a), (b), (c) 3o (d) wel faum SR atreq

(4) *as (b) ¥ Fum T oM

Which of the following statements are true with regard to energy resocurces and
consumption by India in the jrear 2019-207?

(a) India is the 37d largest consumer of energy resources in the world.
(b) India is the 3rd largest importer of crude oil in the world.
(¢) India is the 4th largest importer of LNG in the world.

(d) India’s dependency on imported crude oil and natural gas are 85% and 53%

respectively.
Answer Options :
(1) (a)and (b) are correct
(2) (a), (b) and (c) are correct
(3) Statements (a), (b), (¢) ‘and (d) are correct

(4) Only statement (b) is correct
Feed] BHNTS AT / SPACE FOR ROUGH WORK P.T.O.
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62. welieaeh! HivT WTO 3 dgE<aTas e ?
(1) U= FASAS
(2) g ot
(3) HUETE TR
(4) U SRi=-gaen

Who amongst the following is the Director General of WTO ?
(1) Roberto Azevedo

(2) Pascal Lamy

(3) Supachai Panitchpakdi

(4) Ngozi Okonjo-Iweala

63. “NalE dik fa= SFe v HwieT ofigEd A ?

(1) dtum. g (2) un. Tfgen

(3) #F. Tm (4) T HE

Who is known as the ‘Father of Crop Insurance in India’ ?

(1) V.M. Dandekar (2) M. Narasimham
(3) B.K. Hajare (4) Mohan Kanda

64. ddg TN dduw deen (vh.amue.) i squda GdE FR goadt smeaTd, 2020
g ?
(1) 3= (2y 7= 3) 9= 4) 12em

As per the international resource data from the Research Institute of Organic
Agriculture (FiBL) and the International Federation of Organic Agriculture
Movements (IFOAM) Statistics, 2020, India stands at which position in terms of
organic certified agricultural land ?°

1 g™ @ 1™ 3 o @) 12%
65. WA SFRA & et Uiy anoft faehre TR (NWDA) T shef.
(1) 1984 (2) 1980 (3) 1982 (4) wlEdht T
The Government of India established National Water Development Agency (NWDA)
in the year
(1) 1984 (2) 1980 (3) 1982 (4) None of the above
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66. i I g i € STET.
(a) VR IR IeT@hds dcd
(b) U¥ RmEda -
(c) e fauE IuEHds ad
(d) W AHAUE 94
gt 3 ;
(1) (), (c) 3nftr (d) faum @ s
(2) (a), (b) 3T (c) frur™ @ amaq
(3) (), (b) anfer (d) faur =g snga
(4) <O gd fFun 9 smRd

The inherent natural principles of land utilization are
{a) Principle of maximization

(b) Principle of equimarginal

(¢) Principle of diminishing marginal productivity
{d) Principle of taxation

Answer Options:

(1) Statements (a), (¢) and (d) are correct

(2) Statements (a), (b) and {(¢) are correct

(8) Statements (a), (b) and (d) are correct

(4) All the above statements are correct

67. AU AUl yTHEE S JIeeht 3.
(a) WHEER ITA TE (b) ST G
(¢) TAYTATS FH Ieare (d) g = feadt
gt I

(1) (a)3nfu (b) faurm @/ smd
(2) (b)) faum vy 3w
(3)  (c) sTfr (d) farum @ amRE
(4) (a), (b), (¢) 31T (d) faum™ =g z12a

The foodgrain demand had risen mainly due to .

(a) rapid increase in population {(b) rise in income level

{¢) low foodgrain production (d) low prices of foodgrains
Answer Options :

(1) Statements (a) and (b) are correct

(2) Statements (b) and (c) are correct

(3) Statements (¢) and (d) are correct

(4) Statements (a), (b), (¢) and (d) are correct
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68. AThsY U ¥4
(1) THE F wEEs
(2) TST FfY gEHR A
(3) U HY FEHA fauE TE™
(4) U FY fagom TR
The full form of NAFED is
(1) National Agricultural Federation
(2) National Agricultural Coaperative Federation
(3) National Agricultural Cooperative Marketing Federation
(4) National Agricultural Marketing Federation
69. Wi FIT QY FEHN HaE= Y ?
(a) IR (b) SeRICHR HYTq
(¢) e ned Iy Fid) (d) HEES FIEE FS o0
il W : :
(1) %95 (a), (b) M (c) (2) 9 (a), (b) M (d)
(3) Fae (b), (c) ATV (d) (4) Ol wd
Which of the following are defects of Private Money-lending System ?
(a) High rate of interest (b) Illegal deductions
(¢) Proper records in the register (d) Lends for unproductive purposes
Answer Options :
(1} Only{a)}, (b) and (c) (2) Only{(a), {b) and {d)
(3) Only(b), (c) and (d) (4) All of the above
70. & fohra Tl Ieareq water Rfaet s, i 9o 3gew 7t 3dne e

o wraTuiiaTey Sasharal a=T™ SO T IR,
(1) foawor fema (2) Trm smovoE fFaa
(3) watg ffma (4) FOthr Hod e

price is fixed based on the average cost of production. This is mainly
aimed at protecting the farmers against the price fall during surplus production.

(1) Issue (2) Minimum Support
(3) Ceiling {(4) None of the above
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71. U TSR NAE WO HeaTs \ﬂmzﬁwgﬁ%ﬁ—ﬁ‘?

(1) wfearg (2) T
(3) wEqHeW _ @) =
Which State first introduced the Mid-day Meal Scheme in India ?
(1) ‘Tamil Nadu (2) Gujarat
(3) Madhya Pradesh (4) * Kerala
72. B AT HY A=A SUFTAT AR AT =adis 2.
1) T HY Fm e fm
(2) f5um sl F1E
(8) SN A
(4) ¥$-Ruom

is an online trading platform for agricultural commodities in India.
(1) National Agricultural Market or eNAM
(2) Kisan Credit Card
(3) Ministry of Agriculture
(4) E-Market

78.  ToAT 9 Sk, WRATH IS ITHLTAT=AT SATEATH] d1¢ Helael! 318 shiLe .
(a) =g fusralia &ard g2 g7 s Rsrmandia &= are sreh
(b) 3T IUEA GFHITAT USAHE Fafieh THTYFTAT “FIEMS NI IHuTHeY ISUEui 91
(c) ©F 2001 - 02, 2002 — 03 AT 2004 — 05 AT ANHE YSAAT G
(d) g fFaide aree &y
gt I
(1) (a) Mo (b) faam I HA1ed (2) (a), (b) 200 (c) v I armRa
(3) (b), (c) =1 (@) fqum Fma a1rda (4) wleth wd foum Ira sma

During the last two decades, the growth of foodgrains production in India has
decelerated on account of .
-(a) fall in area under foodgrains due to diversification to other crops

(b) deceleration in yield due to emerging issues of sustainability arising out of
degradation of natural resources in high potential belts

(¢) occurrence of drought in years 2001 - 02, 2002 — 03 and 2004 — 05

(d) imposition of export restrictions on foodgrains

Answer Options:

(1) Statements (a) and (b) are correct (2) Statements (a), (b) and (¢) are correct

(3) Statements (b), (c) and (d) are correct (4) All the above statements are correct
TORT HHIITS! SR / SPACE FOR ROUGH WORK - PT.O.
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74. VRT GRY 1 9, 1997 TET GG Wi G <ae e S, e e

e T TR :

(a) TAEATIRG sq=E (b) 3ol fbma

(c) % g T fremm (d) uHl fFoa
ot 3w : ‘

(1) (a) (2) (a) M (d)
(3) (a), (b) 0T (d) (4) (a), (b) 3 (c)

The Government of India implemented a targeted public distribution system from
15t June, 1997. Its format is as follows :

(a) Targeted system (b) Double price
(c) Control of Centre and State (d) Single price
Answer Options :

(1) (a) (2) (a)and{(d)

(3) (a),(b)and(d) (4) (a), (b) and (c)

75. @ faun fa=mmE = :
C () AU AETET d1ed Hd TS AT SETS ST g davniya sew of s,
(b) 25 TSA/hguNHA AW [EST UGB! AICAAT HIVEHIHTT U1 HTe.

Fhet o fum /3 5% IR /ema ?
(1) g (a) (2) Fas (b)
(3) T8I (a) AT (b) (4) TOSH DR T

Consider the following statements :
(a) Online allocation of foodgrains completed in all States and Union Territories of

Chandigarh and Puducherry.

(b} Computerization of supply chain management completed in 25 States/Union
Territories.

Which of the statement/s given above is/are incorrect ?

(1) Only (a) (2) Only(b)

(3) Both (a) and (b) ' (4) None of the above

76. WIHANh! PR AU HRETS T gt S o1 B ?
(1) 9.Ue1.-480 FWR
(2) UICHI® STYRE
(8) s fipan o i
(4) s <o v g
~ Which of the following food policy was undertaken before the independence of India ?
(1) PL-480 Agreement
(2) Integrated Food Policy
(83) Grow More Food Campaign
(4) Appointment of Foodgrains Enquiry Committee

FeedT HHTAIST ST / SPACE FOR ROUGH WORK
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77. $= (ISRO) g fffa 1 w=elta, s-asfim mifed, dar o fowdiwwr mrvd omed uhi

qHhaerd (Sheftada) R eI,
(1) w99 (Bhumaapan) (2) a1 (Bhuvan)
(3) %! (Bhu-ISRO) (4) ¥WRA-Y (Bharat-bhu)

is the national geo-portal developed and hosted by the ISRO comprising
of geo-spatial data, services and tools for analysis.

(1) Bhumaapan : (2) Bhuvan
(3) Bhu-ISRO (4) Bharat-bhu

78. Wl oo faumitsh, wudt foum @i sSiadt @t amga ?
(a) YT S head, W 3T WA o AT ravEEas TRYuiaT F& .
(b) ¥R I EIIH JTEATAIS! ITLF ATE.

(¢) W IA FHIY FATIEITERS) I AR,
(@) @ 3wt watw sgew AR,

I IW ;
(1) (a), (c) 3o (d) (2) (a), (b) 30107 (c)
(3) (a), (b) 3nfor (d) 4) (b)), (c) 3T (d)

Which among the following statements are true for solar energy ?

(a) Solar energy can meet the entire India’s power requirement if captured
effectively.

(b) Solar energy is not useful for cooking applications.
(c) Solar energy is useful for lighting applications.

(d) Solar energy is environment friendly.

Answer Options :
(1) (a),{(c)and (d) (2) (a), (b) and (c}
(3) (a), (b)and (d) (4) (b), (c) and (d)

79. sErige fAfffaed Gntfes geaE sAfan I e ?

(1) 39 9 FEA SHATFRS (2) TR T w1 TR

(3) s T ffaaeH | 4) 399 T FEEA

Which is the final product of anaerobic digestion in the production of biogas ?
(1) Ethane and Carbon dioxide (2) Methane and Carbon dioxide
(3) Ethane and Oxygen (4) Ethane and Hydrogen
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80. F.5.3A.H. IT I THeI™ B Y ARG :
(a) TE=S AT I JHTH 99 &SN,
(b) FUEiFc T W 3.
(c) TSN 1% HHY HLA.
(d) Hrde Fifersn U UK S .
liedh Fu /@ fauam /3 T R/ e 2
(1) (a), (b) afor (d)
(2) (b), (c) T (d)
(3) (a), (), (c) M (d)
(4) (a), (b) A (c)

Benefits of KVIC biogas plant are :

(a) Supplies clean and high calorific fuel.
(b) Provides anaerobically digested slurry.
{c) Reduces the destruction of forests.

(d) Reduces the pathogenic load of night soil.
Which of the above statement/s is/are correct ?

(1) (a), (b)and (d)
(2) (b)), (c) and (d)
(3) (a), (b), (c) and (d)
(4) (a), (b) and (c)

81. YR iaUe WuYd @1 (ISRO) 311 Wi fmrrae miesor (AAT) It Sgeaadt GrT
Ba18 argge SIS fasfaa Feean yoefe e 3 .
(1) <hfea.us el A JedhieE (GAGAN) i
(2) wse N fdm (SPS)
(3) feturhih FTwiayH R (GIS)
(4) e fore A deende Rdim (IRNSS)

The system developed jointly by the Indian Space Research Organization (ISRO) and
the Airport Authority of India (AAI) for civil aviation application is

(1) GPS Aided Geo Augmented Navigation (GAGAN) System
(2) Standard Positioning System (SPS)

(3) Geographic Information System (GIS)

(4) Indian Regional Navigation Satellite System (IRNSS)

FeeqT SIS ST / SPACE FOR ROUGH WORK
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82, Wl HIV ITAH ¥ g FAGH TOTE! g HE wHar ?
(a) ?f‘\sl groft SqaeT ‘
(b) e womAt ferveror
(c) =Tt G 85 I T e
(d) drh &= T ST Sig
(1) (a), (b) 3 (c) (2) (b, (c) 3T (d)
(3) (a), (b) 37T (d) 4) (a), (b), (c) M (d)

Which of the following applications can be done using remote sensing technique ?
(a) Agricultural water management

(b) Cropping system analysis

(c) Horticultural crop area estimation and monitoring

(d) Crop area estimation and production forecast

(1) (a),(b)and (c) (2) (b), (c}and (d)

(3) (a), (b)and(d) (4) (a), (b), (c) and (d)

83. YNATG 39UE FAfIUA G&T &g I R ?
(a) J.IRTE.H., TR
(b) =#.TH.TH.Hl., feaHagm
() A I TA.E., g
(d) wfow g aw fed 3, el

gt I ;
1) ) 2) (a)
3 4) (o

Which is the lead centre for building satellites in India ?
(a) URSC, Bengaluru

(b} VSSC, Thiruvananthapuram

(¢) TERLS, Thumba

(d) Satish Dhawan Space Research Centre, Sriharikota

Answer Options :
(1 (b) (2) (a
3 @ 4 (©

oY BHTEISE AR / SPACE FOR ROUGH WORK P.T.O.




G15

84.
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SrATalid IRUT=AT Sishdeed Eiefierdehl v fFum suet e 7

(a) ITET IR TSIV eI aefavarardt o fdqehisromandt wam.

(b) a1 Wi AT foRtt 3 a1 fortol aiaTeET 3= I9igE SRemET Ui g,
(c) T& wfskar were 9 e AT i (Pier) Fevareh gwar &fior =@,

(d) mmmmmmﬁ’mmﬁww.
g} I

(1) % (a) ST (c) (2) % (a), (b) 3 (¢)

(3) (), (b), (c) 3N (d) (4) w4 (b), (c) 3T (d)

Which of the following statements are correct regarding radiation processing of
food ?

(a) It is used for extension of shelf-life and insect disinfestation.

(b) The process utilizes energy from high energy radiations such as gamma rays
and infrared rays.

(¢} The process impairs the ability of potato and onion to sprout.

{d) Radiation dose used in this process is expressed in units of ‘Gauss’.
Answer Options :

(1) Only (a) and (c) (2) Only (a), (b) and ()

(3) (a), (b), (¢) and (d) (4) Only(b), (c) and (d)

85.

ST 1 kW 5= SleR BlRaedss Aiesd T feaama 5 gie faga et fmio +% s, @
T RReE 1,00,000 T frga 39t Bl wwama A Wl Higelel AN

(1) 20MW (2) 2000 kW
(3) 200 MW 4) 200 kW

Suppose solar photovoltaic module of power 1 kW can generate 5 units of electricity
in a day. To generate electricity of 1,00,000 units in a day, the power of solar
modules needed is

(1) 20MW (2) 2000 kW

(38) 200 MW (4) 200 kW

TFoe] FHTATST ST / SPACE FOR ROUGH WORK




A a1 o G18
86. _ T uw e, wlia swwmeR snia TE-gYe gomelt ang.

(1) NavIC (Yol i e Hiaem) |

(2) GAGAN (St.¥.ua.uge sfish sAvgh=2s Jdiym)

(3) GPS (Ea difreEn i)

(4) AIPS (3mwg $feam nifsmerefin faedin)

The independent, Indian Satellites based positioning system is
(1) NavIC (Navigation with Indian Constellation)

(2) GAGAN (GPS Aided Geo Augmented Navigation)

(3) GPS (Global Positioning System)

{4) AIPS (Aryabhatta Indian Positioning System)

87. S UUETEN SiEdIG Wieltadshl HIvR o fum e e ?
(1) 18 urft 3 sgiaw Hieass .
(@) A 31 g S ol S, e (ATee) @ wiae (Fee) U AT A,
(3) WA, 9Ig YINETET, ST Haid HIST IeaTes . ‘
(4) T FUEEEE 7 (BARC) =1 wis qroft fafifia awam k.

Which one of the following statements about heavy water is not true ?

(1) Heavy water is deuterium oxide.

(2) Itisused as moderator and coolant in pressurized heavy water reactor.
(3) India is the largest producer of heavy water in the world.

(4) Bhabha Atomic Research Centre (BARC) is involved in the production of heavy

water.
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88.

42

T &, Trer dEm I AMTE 34 IR,
(a) =1 Ioaa gor=n feamern faera

(b) TATSAT AT AFHATHT

(c) Topes Fmor

(d) == AT

gaieY I ;

(1) % (d)

(2) (a) 30T (d)

(3) (@), (b) 3T (d)

(4) (a), (b), (c) 31fr (d)

In the field of agriculture, ‘radiation technology’ is contributing to
(a) the development of high yielding crop seeds

(b) optimizing use of fertilizers

{c) pest control

(d) preservation of food

Answer Options :

(1) Only (@)

(2) (a)and{d)

(3) (a), (b)and(d)

(4) (a), (), (¢) and (d)

89.

1 fagFma s g fReiafies auenfes I 91 ?
(1) fferm — 99

(2) FEARFRM - 253

(3) Sferiftem - 249

(4) wHREH - 249

Which radioactive isotope is commonly used in diagnosis ?
(1) Technetium — 99

(2) Einsteinium — 253

(3) Californium - 249

(4) Berkelium — 249
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90. FTHEHl IR M FLFE AH Gieg- THRE ATes Higguang fFolqs soammdt Hiowen
Y HEUEH Hidan THomER arwe e ?

(1)
(2)
(3)
(4)

Hebl

fere

r

1

-

b AL

Which type of radiation is widely used to sterilize consumer cosmetics such as hair

products and contact lens solutions ?

(1)
(2)
3)
(4)

Alpha
Beta
Gamma

Neutron

91. wrRamed RewiiegmirgA fbam a7o] st worelt wgH wewer QoA @ 2 R I TR
e HW ATR.

(1
(2)
(3)
4

fafertor 3 sk a9 w2 (BRIT)
TR siates Fg

2121 YeTyd HINEH g

o st Fres e (3E.A.)

To ensure the protection from radioactive emission or atomic energy radiation in
India is the main function of

(1)
(2)
(3)
(4)

Board of Radiation and Isotope Technology
Indian Space Centre
Tata Institute of Fundamental Research

Atomic Energy Regulatory Board (AERB)
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92, d.H . (TCP) ¥e =1 raM ¥fiwielg  (Minimum Header) 37K (size)

qTEH AR,
1y 20 (2) 10 3) 60 (4) 40
The minimum Header size of TCP packet is bytes.
(1) 20 (2) 10 (3) 60 (4) 40
93. search 8 Mini-Max Search U@ 3@al, 90 41 ¥ &l (branches)

TA3d! (eliminates) w1 2ifed Fofare (final decision) S (influence) T ATEA.
(1) 2= %= @9 (Depth First Search)

(2) %Y B ¥4 (Breadth First Search)

(3) AeHI-dter YA (Alpha-Beta Pruning)

(4) =AU THat ATE

gearch is equal to Mini-Max Search, but eliminates the branches that
cannot influence the final decision.

(1) Depth First Search
(2) Breadth First Search
(3) Alpha-Beta Pruning
(4) None of the above

94, @l Fivar EHHEF THRNE FAemiEn 3T ?

(1) =t 6= (Blow fish) (2) T ™ (Two fish)
(3) FMTH.T (RSA) (4) =lc<h! e AT
Which of the following is an asymmetric encryption algorithm ?
(1) Blow fish (2) Two fish
(3) RSA (4) None of the above
95. wR¥A «fin wigw it slegtdie (overfit) 3@amE, o T Bias r@at amfor st
3T (underfit) 2T, <1 O =209 (variance) 379l
(1) ST, S (2) I, S
(3) Ht, R4 (4) <pHl, FHt
Machine Learning Models, which overfit have bias and underfit have
variance.
(1) high, high (2) high, low
(3) low, high (4) low, low

FreeqT HTHIHTS! ST / SPACE FOR ROUGH WORK




A 45 ' G15
143 9IE FER, “HUTT Wi i qadia 31 ?
(1) SMTP 2) FTP 3) IMAP (40 POP
143 port number refers to which protocol ?
(1) SMTP (2) FTP (3) IMAP (4) POP
97. IPsec H Wi&hiel (protocol) afer giumfia (defines) .
(1) wuwE. (AH), 3.w8. 9. (ESP) (2) WA, (PGP), 8.tE.Td. (SSL)
(3) .St (PGP), $.ta.dt. (ESP) (4) TUE. (AH), TH.UE.TE. (SSL)
IPsec defines two protocols and . |
(1) AH, ESP (2) PGP, SSL
(3) PGP, ESP | (4 AH,SSL
98, YR weHm W Ified @l (digital signature) G491 U HET SUATT TSl 8. AT
HE B, ?
(1) EReEEA €&F (DigiSign Desk) (2) 39T 35 (eSign Desk)
(3) AR U549 3% (Online Sign Desk) (4) I{emdeh! vwdl At
Digital signature service has been launched on Aadhaar Platform. What is it called ?.
(1) DigiSign Desk (2) eSign Desk
(3) Online Sign Desk (4) None of the above
99. WA, FE, 2000 TAR, MuFrEar AT Mofrad=a Secia S 3T M.

(1) U GETEE 3 a8 3TYe] HATS 58 @A UF 9 T99 2194 gl
(2) U qETETE UH 9¥ Ual HATA oF TR S ATE T98 39ET SFe
(3) HUTH GEETE G oY STV FUTH <8 Wl A ARG T T G
(4) U GHEE TF 99 AT HHIS &S @hH 91 ARF T99 AET SIE
According to the IT Act, 2000, penalty for breach of confidentiality and privacy is

(1) imprisonment for a term which may extend to two years or with a fine which
may extend to one lakh rupees or both

(D) imbrisonment for a term which may extend to one year or with a fine which

may extend to two lakhs rupees or both

(3) imprisonment for a term which may extend to two years or with a fine which
may extend to two lakhs rupees or both

(4) imprisonment for a term which may extend to one year or with a fine which
may extend to four lakhs rupees or both

U] FIHMATS! O / SPACE FOR ROUGH WORK P.T.O.
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100. TN UeHnHid TgEEY U (correlation coefficient) ¥ (positive) T8, B I&7 1 g
B

w
@)
@)
@

T TeHE (attribute) i fFra areetl, W gE==h fewa gar dred.
THT TeHE (attribute) i Frna wit weft, w gE= fma A
WeF (attribute) & THAHIEN linearly HeHia Tl

Ffathl THE A

The correlation coefficient for two real-valued attributes is positive. What can be
inferred from it ?

(D

(2)
(3)

As the value of one attribute increases, the value of second attribute also
increases.

As the value of one attribute decreases, the value of second attribute increases.

The attributes are not linearly related.

{4) None of the above
101. wede 899M (Multiple Regression) & .
(1) w1 T 3848 9o (variable)

@)
@)
@)

A multiple regression has

(1
(2)
(3)

(4)

THIE W (more than one) €48 (dependent) =& (variable)
THTiET A $¥iUEe (Independent) 9 (variable)
e T A

only one independent variable
more than one dependent variable
more than one independent variable

None of the above

FTegT PHTS! SR / SPACE FOR ROUGH WORK




A 47 G15

102. g T vif sfdsEien after weR R 997 T9r o= 38 e S
TRUIAT.
(1) =w (2) &
(8) WA (4) I

Interaction between antibody and particulate antigen that results in visible
clumping is called

(1) Blotting (2) Precipitation
(3) Agglutination (4) Flocculation

103. aid T @iy Fas.

FgdH | I I gEdT W TR TIRAIOES .
(1) sfer (2) Ffsea
(3) w@m (4) fefa

Choose the most appropriate answer.

Most of plant tissue cultures are photosynthetically

(1) active (2) inactive
(3) incompetent (4) controlled
104. WA TR ShedT sHISHIEAT S2TEE TEA Tk HSAHEY i SqH Teq.
(1) 5000 (2) 25000
(3) 50000 (4) 3 =

The Human Genome Project created a database comprising of roughly
genes in each human being.

(1) 5000 (2) 25000
(3) 50000 (4) 8 billion
105. TUGAT Gehd TRA &6 Feadl (oeH Tfaearar ‘G e Fmior g,
(1) vgmEEn (2) vataen
(3) WAEAEEA (4) oreTEE
‘G’ bonds are produced when chromosomes are subjected to mild heat
and then stained with Giemsa reagent.
(1) Anaphase (2) Prophase
(3) Metaphase (4) Telophase
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106. TERHI J91 B 9RA O AT fedelt onfon wd fFremwr emeema anfae e
THAH T @d 3R,
(1) wiE (2) WU
(3) gham (4) &=
The only Nano fertilizer approved by the Government of India and included in
fertilizer control order is ‘TF¥FCO’ Nano .
(1) Phos (2) Sulphur
(3) Urea (4) Zinc
107. TWeft TEE Stem wedRwd! Aefia eaw oadt € faw @ wrarh aigeh
o g R e,
(1) A= (2) THA AfFerilers e
(3) Wl dearse Afaen (4) Ulielmihs TRERES TeE=
IndiGau Chip is India’s first based chip which has been developed for
conservation of pure varieties of indigenous cattle breeds.
(1) ELISA (2) Single nucleotide polymorphism
(3) Micro satellite variation (4) Polymorphic repetitive elements
108. WEGhHOS! T RV FIRTAG A dHfUa SEPE AE % a fag=sh soft
qT1g <h{dId.
(1) 65 {2y 175 (3} 50 (4) 98
Compressed Biogas used as fuel for transportation is upgraded to %
purity of Methane,
(1) 65 (2) 75 (3) 50 (4) 98
109, WIG-SRH AT SHiaia foreia el Siegal= 1 FiEie-19 7emit =« o9

g qER et AR,
(1) ga s femwg (2) = e de
(3) SR RmoEn v sm T T (4) ST T Ao UL AR

COVAXIN, an indigenous vaccine for COVID-19 pandemic developed by
Bharat-Biotech is a vaccine made of

(1) Killed Coronavirus (2) DNA of Coronavirus
(3) mRNA of Coronavirus {(4) Recombinant mRNA of Coronavirus
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110. WRAE SifgH g qaden wemadt & _ T/ I 20 Fuieea STl
(1) 9fgs g9 =1 o grEs
2y Nfge g N araoht often
(3) ¥fg® due 3 ymwER yr
(4) g awe 3 oo wwmfla

The term of patent in India is for 20 years from the date of
(1) filing the application

(2) examination of the patent

(8) receipt of the patent certificate

(4) publication of details of patent

111. Greiadh Fiug qra 9@ sEmiadt % g 2

(1) =9 (2) drerm
(3) A (4) wart
Which one of the following is India's first triple disease resistant crop ?
(1) Sugarcane (2) Pea
(3) Tomato (4) Sorghum
112, = o8 @ T Sfiaa Ag oI AR SiEE | 3T IR,
(1) weh (2) fawms
(3) U , (4) T
vaccine is an example of a live attenuated bacterial vaccine.
(1) Cholera (2) Typhoid
(3) Anthrax (4) Plague
113. Siermd’ ¥ uftewn sy fhes-dus < IETET 8.
(1) <hgH (2) W&l
(8) o9g (4) <A
‘Bollgard’ is an example of the first commercial pest resistant variety of
(1) Cotton (2) Maize
(3) Tobacco (4) Tomato
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114, fgdfas saefa Scgren fffdad 1 ygde Ty arTeE AR,
(1) 99 ugd™ IRITEg (2) ¥z Wi Fesa gad
(8) YBad =€ FEId asft (4) TTBem THE frataet
method is the most significant contribution in secondary metabolite
production.
(1) Solid state bioprocess (2) Free cell suspension culture
(8) Surface immobilized plant cell (4) Stirred tank reactors
115. ufElieiea semiis Sagsian ¢ Fierew < Smn 3 gaeh ame.
(V) 9 BEEfaTE (2) 9 FygEd?
(3) 9 vrHEeT 4) 9 Ty
has replaced P. notatum for commercial production of penicillin.
(1) P. chrysogenum (2) P.camemberti
(8) P. roqueforti (4) P. bilaiae
116. T R AR ST & wW dfteder ar S
(1) e Tfeh (2) et fhR
(8) It ITEA (4) A ATREHCS
The term ‘Biotechnology’ was first used by an Hungarian engineer named
(1) Karl Ereky (2) Karl Fischer
(3) Karl Urban (4) Karl Lagerfeld
117. el am =

(a) TYYHA TR ST SgAT St vl i
(b) TST AT HGEATIA TITUFHT AqY TA= TeF HiEa AFaw.
(c) 1961 T UG GO $igA HETG el Bl

g I :
(1) T&aum™ (a) 3l (¢) SU=T 38 (2) Taum (a) snfér (b) <= 3ngg
3) fum (b) stfiy (¢) st FEw @) faum (a), (b) =1f¥1 (¢) wO=T 3mEa

Observe the following statements :
(a) The process of making impact less severe is called Mitigation.
(b) The Chairman of the State Disaster Management Authority is the Chief

Secretary of the State.
(¢) There was a heavy flood due to burst of Panshet dam in 1961.
Answer Options:

(1) Statements (a) and (c) are correct (2) Statements (a) and (b) are correct
(3) Statements (b) and (c) are correct (4) Statements (a), (b) and (c) are correct
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118. TN USATATS S Afve sy Fivren feash aeredt smer 2

(1) 26 I, 2001 _ (2) 15 AR, 2001

(3) 25 @, 2001 (4) 25T, 2001

When did the Bhuj earthquake of Gujarat State occur in the morning ?
(1) 26 January, 2001 @ 15" August, 2001

(3) 25" November, 2001 (@ 25% July, 2001

119. 1999nﬁaﬂﬁmuwmmmaamm%mmaa?

(1) 01A (2 02B (3) 05B (4) 00D
What was the name of the cyclone that struck Orissa State in 1999 7
1) 01A (2) 02B (3) 05B (4) 00D

120. FreeT T Sfde Hvw S 2

1) s T@ ' (@ &

(3 A @ &
Which was the epicenter of Killari earthquake ?

(1) Manjara river 7 (2) Gharni river
(3) Terna river (4) Lendi river

121. Gieclied Hivre fead s saaeemE Sra™ g et 2
(1) 26 F=gat, 2005
(2) 26 fedsy, 2005
(3) 26 IHa, 2006
(4) 26 ¥garh, 2006
On which of the following days was the Disaster Management Act passed ?
(1) 26'" November, 2005
(2)  26th December, 2005
(3) 26th January, 2006

(4) 26th February, 2006

FTEq] BT SR / SPACE FOR ROUGH WORK ' , P.T.O.



G15 52 A

122, T LW ICAIEATEES WIAA GEIR 3RE
(a) BT SCUTET=AT Tohvl oIl Ve,
(b) & W UTHrE fShen IeaETaT YAE.
(c) ¥ THYT @Al ST,

qidt 39 ;
(1) (a) 307 (b) fau™ T amdd (2) (b) 301 (¢) faa™ drg amRa
3 (@) anﬁv_(c) faem o 3mea (4) (a), (b) 3nfu1 (c) faa™ arg amda

The concept of Gross Domestic Product has the following aspects :

(a) This is a flow of total value of output.

(b} This is a flow of total receipts or incomes.

(¢) This is a flow of total expenditure.

Answer Options :

(1) Statements (a) and (b) are correct (2) Statements (b) and (c) are correct

(3) Statements (a) and (¢} are correct {(4) Statements (a), (b)and (c) are correct

123. WWWWWWWWW
T /AME o T AT,

(a) weHEdl aOE oA
(b) TdEvERN e
(c) =aRm Iua
gt I :
(1) (a) foum drg amg _ (2) (b) Fum drg 3w
3 (o) faum A e 4) (@), (b) 3t (c) Fram a7 e
Gross Value Added at market price by a production unit is obtained when the
following thing/s is/are deducted from the value of output :
(a) Value of intermediate consumption/use
(b} Value of the investment
(c) Personal income
Answer Options :
(1) Statement (a) is correct ' (2) Statement (b) is correct
(8) Statement (c) is correct (4) Statements (a), (b) and (c) are correct
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124, ‘onfiw g4 gdim dweun $oft wiewet o ?
“anfie g e s=a X N HieEEdd | Al g dHee[ wHE STl ferdem

(1) et 3gen fea (2) . frsaEer
(8) - & (4) W. yfix

Who stated the following definition of ‘Economic Growth’ ?

“Economic growth is a gradual and steady change in the long-run which comes by
gradual increase in the rate of savings and population.”

(1) Mrs. Ursula Hicks (2) Prof. Kindleberger

(8) Amartya Sen ' (4) Prof. Schumpeter

125. ‘SIfaes Shel AT S sl gl ?

{1) 1944 (2) 1945 (3) 1946 (4) 1947
When was the ‘World Bank’ established ?
(1) 1944 (2) 1945 (3) 1946 (4) 1947

126. ¥ I Wi Wieltd M qEs HeaTd Hed T
(a) <L Hicear SHaqM.
(b)y IrATE=IT TR YSHTET M.
(¢) fa=Swumenes wreuTe sigviiardh Sewe.

gt It «
(1) (a)faum 9 a2 (2) (a)3for (b) faum 9/ amga
(3) (b)amfur (¢) faum @ angd (4) (a), (b) 31t (c) foum A9 anga

National Income Accounts help to understand the following things :

(a) Business of the Chartered Accountants.

(b) Economic performance in terms of the aggregate output of an economy.

(e) The framework on which analytical models are built.

Answer Options :

(1) Statement (a) is correct (2) Statements (a) and (b} are correct

(3) Statements (b) and (¢} are correct (4) Statements (a), (b) and (c) are correct

127. fsdiw srebemes mnﬁmmﬁmw%awmug@maﬂ%
(1) ¥ (2) wEE 3) fag (4 =%

According to the opinion of , the British economist, elasticity of money
supply is the main reason for the trade cycle.

(1) Keynes (2) Marshall (3) Pigou (4) Hawtrey

Fod] FTHTATS! SIATT / SPACE FOR ROUGH WORK P.T.O.
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128, feaw=ar fgovome Shly Tt &t qcare WY AT SgHadT.
(a) ¥ed Thd HUIT @A AT WehRva= AT '
(b) TV ITMOT TE
(c) WiEaeTe i Hrismar 2nfor === X
gt I
(1) (a) faum g am (@) (b)fum W IR
(3) () frum 3y o (4) (a), (b) 21w (c) forum 9 amRa
In Hicksian analysis, cyclical fluctuations take place due to a combined effect of
principles.

(a) ability to pay and ability te accept

(b) multiplier and acceleration

(¢) marginal efficiency of capital and rate of interest
Answer Options :

(1) Statement (a) is correct (2) Statement (b) is correct
(3) Statement (c) is correct (4) Statements (a), (b) and (c) are correct
129, et TRTOR TR =T DAt B

(a) <= a5 T Ao =
(b) T qEEat dsk AT TR wrTefiET 95
(c) WY AU 56 AT THU [t a5

ot I :
(1) (b) faum Irg ame (2) (c) faum gy ame
(3) (a) faum 9 amg (4) ahedH FvRd faum I T

Effective demand is defined as the point of intersection of
(a) saving curve and investment curve

(b} money supply curve and demand for money curve

(c) aggregate demand curve and aggregate supply curve
Answer Options :

(1) Statement (b) is correct (2) Statement (c¢) is correct

(3) Statement (a)is correct (4) None of the above statements are correct
130. WvEq fawr deR TTET E1F ehel I Tiftaq anfor gy sma.

(a) TS @ (b)) AHlSTEE (c) vt

it 39

(1) (a) 2y ® 3 (© (4) (a) 3700 (b)

Sustainable development can be achieved only if the 'is conserved and

improved.

(a) political interest {(b) self-confidence (c) environment

Answer Options :

1) (a) 2) m 3y (o) {4} (a)and (b)
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@reltateh! Hiord /o faam /3 stmr /R ?

(a) 1995 =1 WrHe T A wiaEe 16 tearan rmafa fosm fRémmen snam
T ST TR

(b) 1980 "= wRardter Tafeu Tswidsht ez fom auan s wreame s giar.

(¢) Trmme fawmar & Sefia sew giganft Frda sma.

it 3¢ ; ‘

(1) (a) =f (b) FA MR (2) (a) 20N (c) TS IMRA

(8) (b) 3N (c) TS 3TRA (4) %F (c) FUKH A1}

Which of the following statement/s is/are correct ?

(a) In 1995, the Human Development Report has studied the Gender-Based
Development Index of 16 states in India.

(b) In 1980, the Gender Equality Index of Kerala was highest among states in
India.

(¢} Gender inequality is always related to income poverty.

Answer Options :

(1) (a) and (b) are correct (2) (a)and (¢) are correct

(3) (b)and (¢) are correct (4) Only (¢) is correct

132,

e aefia geg afevrn ggread wre fTea fdws endia el syeediR
I @l :

(a) ARyl fesmgsT

(b) T Frevarh axf

(¢) AME TEuiiaHmT =i

it 3ay ‘

(1) (a) 20for (b) fywm I amRa

(2)  (b) =P (c) Toum A a1mRa

(8) (a), (b) =T (¢c) Fram™ A1 3

(4) ()3 (c) faum dv amRa

Human Development Index measures the average achievement in a country in the
following basic dimensions of human development :

(a) A long and healthy life

(b) Access to knowledge

(¢) Decent standard of living
Answer Options

(1) Statements (a) and (b) are correct
(2) Statements (b) and (c¢) are correct
(3) Statements (a), (b) and (c) are correct
(4) Statements (a) and (c) are correct
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183, FEATH 3T U fRawgar yfteaier aredl/ared YT T SHieTau e
AT wie @ U /A
(1) =R (2) SwmET &S
(3) Iy ferwwar (@) T
According to Kuznet’s inverted-U’ hypothesis, first rises and then falls as
a country develops over time. -
Answer Options :
(1) Interestrate ' (2) Money supply
(3) Income inequality (4) Investment

184, 2014 =0 SR weE frew FEwiwE (GHDI) SHRIEHER Siie FRaiast 188 20

oy FEEdmYA WRaTn FEE &1 Tigfaen e .

(1) 75 (2) 110 (3) 130 4) 125

India’s position in the Global Human Development Index (GHDI) 2014 was reported
at out of 188 countries and territories.

n 75 (2) 110 (3) 130 4) 125

188, TR = Ea afdiemn @ S $oi Aiseh ?

(1) ol smd & (2) u. gl dgEe

(3) . zidw anfor <F U™ (4) i 0. ngeEfam
The idea of poverty as capability deprivation was put forward by

(1) Dr. Amartya Sen (2) Dr. Suresh Tendulkar
(3) Dr. Dandekar and Dr. Rath (4) Dr. P.C. Mahalanobis

186, T N1 GHET I QX WA FoAA A BTG ATHATIT FHIAS WTera1 WUHER Toard

T e it fodfa g geon . srafag _ Tagia sm.
(1) ST " (2) R e
(8) wIAWEAYS TH (4) Topum Foriae sEem=n

Once a high enough rate of growth is achieved, the benefits will automatically
spread to the lower strata of the society whose economic position would then improve

considerably. This is the famous theory.
(1) Bigpush (2) Trickle down
(3) Inclusive growth (4) Critical Minimum Effort
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137. LR HEST Giefie TME=ET 99aY g
(a) YSITEHII TEEA (b) TsF ITHATIREA firesoma st
(c) TUFET § I (@) fafau ==
gt I

(1) (a), (b) 3T (¢) fyam s amm2a

(2)  (a), b)), (c) 3 (d) foram™ s 3mRa
(3) (a), (b) 3nfu (d) o™ sO= amRa

(4) (a) =i (c) Fau™ s0=R 3mRa

Non-tax revenue includes the following things :

{(a) Administrative revenue (b} Profit from State enterprises
(c) Gifts and grants (d) Various taxes

Answer Options :

(1) Statements (a), (b) and (¢) are correct

(2) Statements (a), (b), (c) and (d) are correct
(3) Statements (a), (b) and (d) are correct

(4) Statements (a) and (c¢) are correct

- -G15

138. il Ho Wiehd MUl gefiyg 3/ -
(a) G SIS HISHIN
(b) WRdE fgreg do Frifim e vy =t @
(¢) 3IvE9El o=
qaidt I | ;
(1) (a)3ufir (b) faur a0=x améa
(2) (a), (b) 3101 (¢) Ty =R Ada
(8) (a) o (¢) faum sist oga
4) (b) it (¢) foym sO=T =mRa

Internal debt refers to the folowing things :

{a) Loans raised in the open market

(b) Special securities issued by the Reserve Bank of India
(¢) Bilateral arrangements

Answer Options :

(1) Statements (a) and (b) are correct

{2) Statements (a), (b) and (¢) are correct

(3) Statements (a) and (c¢) are correct

(4) Statements (b) and (¢} are correct
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189, TErelieAthl o FUeh e e ?
(a) TR WEAT FIE H0,
(b) HEYATE AT FHTT TTH.
(c) 3l fawmar ) =,

It IE :
(1) (a), (b) 3mfur (c) (2) (a)sfn (¢)
(3) (b sfir (¢) (4) (a) 3nfur (b)

Which of the following are the objectives of taxes ?
{a) To increase administrative revenue.

(h) To influence resource allocation.

(¢} To reduce income inequality..

Answer Options :

(1) (a), (b) and (c) (2) (a)and(c)
(3) (b)and (c) (4) (a)and (b)
140. @l fw & FITEAE W g i wEes o @ SrefymreATeh
(a) ¥&9, ¥a
(b) ¥c1, G&H
(c) vEiEwhE, i
(d) raanda, faanfie
gt I
(1) (d) I o 3R (2) (b) IR TR 3R
(3) () I =T AR 4) (a) I U A
Private Finance is a concern of Economics and Public Finance belongs to
the category of Economics,

(a) Micro, Macro

{(b) Macro, Micro

(¢) Environmental, Geographical
(d) International, Regional

Answer Options :
(1) Answer (d) is correct (2) Answer (b) is correct

(3) Answer (c)is correct (4) Answer {a)is correct
THEET IS IRT / SPACE FOR ROUGH WORK '
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ﬁﬁwaﬁw%@ﬁaaﬂﬁaﬁﬁwwmwaﬂ%:

(a) wAWTHRU fFhAaITEA A1 v wuTY /SEAgEat
(b) TSAIR Waaht anfor fhmamaed!

() A= YHWT 1 HETR HE

it I

1 (a)

2 G

3) ()
(4) (a), (b) 3fun (c)

The equation of exchange is an important tool of analysing correlation between

(a) general price level and the quantity of money
(b) employment level and price level

(¢) quantity of money and labour laws

Answer Options :

1 (a)

2 o

3) (o)

(4) (a), (b) and (c)

142,

= IREIETER Al (H) @ieie MidTen auEy 3@t ¢
(a) s ol

(b) @M ¥

(¢) =il T

q’ﬂﬁﬁ‘ﬁ:

(1) (a) 3T (b) fam Ty oRA

(2)  (b) 3 (c) faena I mRa

(8)  (a), (b) 30 (c) o™ Ty oTa

(4) (a) 30T (c) foam™ T/ o

Following things are included in High Powered money (H) :
(a) Monetary liabilities

(b) Government money

(c) Black money

Answer Options :

(1) Statements (a) and (b) are correct

(2) Statements (b) and (c) are correct

(3) Statements (a), (b) and (¢) are correct

(4) Statements (a) and (¢) are correct
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T TR et G&F TUiTeRrsT FHTE e
(a) =EH TOIRR |
(b) Wea 34t /ArTef 3§t (TD/DD)

(¢) i I=THHar

qatdt I ;

(1) (a) 3fn (c) faam v amRa
(2) (b) =t (¢) faum @ amRa
(3) (a), (b) =it () fowm @ amRa
(4) (a) 3mfr (b) faym @y amRw

Money multiplier is influenced by the following key ratios :
(a) Currency ratio

(b) Time Deposit/Demand Deposit (TD/DD)

(¢} Reserve requirement

Answer Options :

(1) Statements (a) and (c) are correct

(2) Statements (b) and (c) are correct

(3) Statements (a), (b) and (c¢) are correct

(4) Statements (a) and (b) are correct

144.

‘Wm%hﬁmmmm?

(1) et (2) T wH
(38) sIufk w (4) I FE
What kind of function of money is the measure of value function ?

(1) Primary function (2) Secondary function
(3) Contingent function (4) Other function

145.

A TR FEE AT Al ?

(1) fraa urasst (2) et mproft
(3) wImET gREaT (4) vEE
On what does money multiplier.depend ?

(1) Price level (2) Demand for money
(3) Supply of money (4) Reserve money
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146. SIS AET
rdveaR HHator
(a) T (i) M=KY
®) ¥ - G P= MVTFMV'
M
(¢ fap (i) P= oo
@ v Gv) P= B
M
gt I ;

(@ (M) () (@
Q) Gv)  Gi) @ G
2 G @ Gv) GiD
@ G Gy G G
(4)" (i) G Gv) G

Match the following :
Economist Eguation
(a) Fisher (i) M=KY
(b) Marshall Gy p=MY erV
. Ny pe M
(c} Pigou (iii) XT
(d Robertson Gv) P= -KI\%

Answer Options :
(a (b)) (¢} (d)

D G G G G
@ G O  Gv  GEiD
@ O G G G
@ @G @ O

G15
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TENE WEae & weita gitferdsn afomy o ;-

(a) SuTE I @I 9ME

(b) T A1 TR

(¢) It IS 918

ot I3 ;

(1) (a) 371 (c) (2) (a) AT (b)
(3) (a), (b) 3 (c) (4) (b)3H (c)

Cost-push inflation is a result of the following situations :
(a) Cost of production of industry rises

(b) Increase in taxes and customs duties

(¢) Increase in agricultural products

Answer Options :

(1) (a)and(c) . : (2) (a)and (b}
(3) {(a),(b)and (c) (4) (b)and (c)

148,

SAARC I wrefia @ IEnest 378d :

(a) Uelta SeuTdicl Sishrear Hiehiae fasharen Tl Jmfmn-enféfs weamner Sieare 2.
(b) wfes stenfiids T are Sl

(¢) T® RS =R fawe Fl,

qaidt 3=

(1) (a) 30707 (b) g™ I/ amRa

(2) (a) 30 (¢) foam I amed

(3) (b 30f (c) foremy @ 3mga

(4) (a), (b) 3f (c) faem o ameq

Following are the main objectives of SAARC :

(a) To promote the socio-economic welfare and cultural develbpment of the people
1in the concerned region.

(b) To achieve the goal of collective self-reliance.

(¢) To develop free regional trade.

Answer Options :

(1> Statements (a) and (b) are correct

(2) Statements (a) and (c) are correct

(3) Statements (b) and {(¢) are correct

(4) Statements (a), (b) and (c¢) are correct
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149, aniaUgE oOERE /S /e
(a) ferioone Wieares 2o
(b) Afeern ufdsg Fwama uga w0
(c) AN AT &3+ & eatied 0
gt 3= :
(1) (a)30fr (b) foram Iy ammed
(2)  (b) 3T (c) faum Trg HAR
(3) (a) 3TN (c) Forum AP aRa
(4) (a), (b) 3T (c) Frum T rea
The International Monetary Fund'’s functions are
(a) to promote stability
(b) to help prevent crises
(¢) to promote growth by facilitating trade
Answer Options:
(1) Statements (a) and (b) are correct
(2) Statements (b) and (c) are correct

(3) Statements (a) and (c) are correct
(4) Statements (a), (b) and (¢} are correct

150, TE=3AaYEF (sanitary) 3R fFame @ el surrieT @l Ml dafte smq
(a) wIURt & SFead= SRR @ guidar
(by =19 gltaaan
(c) wmIfoes R | gaftraan

i 3=y : .
(1) (a) =01 (b) faum Ig smaa (2) (b) 3T (c) ferum Ar 3RT
(3) (a) 3T (¢) forum diry omRa (4) (a), (b) 301 (¢) forar Qg 3mRa

Sanitary and Phyto sanitary measures deal with :

(a) Animal and plant health and safety

(b) Food safety

(¢) Social health and safety

Answer Options :

(1) Statements (a) and (b) are correct (2) Statements (b) and (c) are correct

(3) Statements (a) and (c) are correct  (4) Statements (a), (b) and (¢) are correct
Toeq] HETATS ST / SPACE FOR ROUGH WORK P.T.O.
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(8) vwyfearwe fafka Faem fafie Irfle = o @ (6 3%) =9, TwgfaEsfila sTetFres o ™=
FEEL = 1 Hodd d HiU FOATSAT I Fd ATR, 3 TS Aol T AHER SHSIRET MEA
St Forem “Ghumed g RosR wRiey wwaeeay wfafem-g2” adie wadER FRar
Tt AE T S TRl HATS U FureAl FREETET o/ R w9 v R e e e

T B,

(9) wmm%ﬁﬁhwmﬁmmaﬂmWﬁmm
U3 TEH WEET TR, I GHeheTEnet AvaTgel SHEEN ST9edl STUEYT WAT-1
THARERTERE J faaTar u@ o snayas g,

q. . 201.

. 6. 201.

oTHolT Ul
Tt =TT T2 oS! vl ot Taer e ?
(1D Tl ggHg g @) svatEg famam
(3) T THATEA TA (4) TIITSFT TES

T W A IR Q) T TR T ST IR, e A1 W W 3)” B
YT WIATSTTHIO S9 6. 201 TS SRAE “(3)” 8 dades OIT0 Sifeha &%
@l SEvIH TR,

O @ @& O

ST U TG TRYeRhdie Yeds Wl Ul IT-ENIS 31 gReTen W@aaie [iReedn
et T WIS |Terda aTqa, Ufrer & vmésr 99 amas 1.
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